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General Instructions : 

Preparatory Course in Mathematics (OMT-101) 	Questions 1-50. 

(i) All questions are compulsory. 

(ii) The Question Paper consists of 50 questions each of which carries one mark. 

(iii) Each question has four alternatives one of which is correct. Write the 51. No. of 
your correct alternatives/ answers below the corresponding question number in the 
answer sheet and then mark the rectangle for the same number in that column. If 
you find that none of the given alternatives is correct then write 0 and mark in 
column 0. 

(iv) Do not waste time in reading the whole question paper. Go on solving questions 
one by one. You may come back to the left out questions, if you have time at the 
end. 

(v) Use of calculators is not allowed. 

	fT?TiT : 

	

iiruid 1111fITT Liickt4gro-i ( 31171A-101) 	M 1 1-50 

(i) 	TEA. 1,R-I 3Trff-4T4 t I 

	

50 1;17ff 	-9-A --1R9 7T. 	chl 

(iii) -k TIN ziit rcl 	ch t fq-A 	t, Tit t 67-R ia-FTTI--*--r 	tivR 	6-d(*/ acn(-"4 •  tr 34' 

4y.11 	-114 -F -d 3ft-{ f 	3 t 3t-zru -97 	*To 44 -4 	Qv ill -zrr-  al-Fr 41 	 rch 

fa   t.)- 0 fo-d 3T1T chT044 0 	 

(iv) 111. 	 11 	Hci 	I -cr- 	-9-7q 	 Tit -q-rq 4 =1-11-zr 

	

57t ci->) 	kur 	•-ichor t 

(v) 	criztlT 	ci->) 	• t- 
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/9- +(-7)x(-3) 
1. is 

23  x 4 

(1) a rational number 	 (2) an irrational number 

(3) a natural number 	 (4) an integer 

2. LCM of 5, 8, 12, 20 will not be a multiple of : 

(1) 9 
	

(2) 8 	 (3) 5 
	

(4) 3 

3. The Roman Numeral for 54 is : 

(1) L 	 (2) LIV 
	

(3) LVI 	(4) IVL 

4. n2 -8 is divisible by 8 if n is : 

(1) an integer 	 (2) a natural number 

(3) an odd integer 	 (4) an even integer 

3 
5. 

 
4  is not equivalent to : 

9 	 9 	 12 
(1) -16 	 (2) —12 	 (3)  16 

6 
(4) i 

2 6 
6. i + --i is equal to : 

2x3+6x7 	2x7+6x3 	2x6+3x7 	2+6 
(1) 	3x7 	(2) 	3x7 	(3) 	3x7 	(4) 	3 x 7  

7. If x +a = x for every x, then a = 

(1) 	0 	 (2) 	1 
	

(3) 	– 1 	 (4) 

1 is equal to : 8. 2 2 – x 3 3 – x 4 – 
3 4 2 

(1) 6 	 (2) 10 (3) 60 	 (4) 40 
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am  (4) (3) am.bm = (a b)2m rn - n = a  
an 

9. 	The ascending order of the numbers 

2.014, 2.410, 2.104 and 2.401 is : 

(1) 2.014, 2.401, 2.410, 2.104 

(2) 2.014, 2.104, 2.410, 2.401 

(3) 2.014, 2.410, 2.401, 2.104 

(4) 2.014, 2.104, 2.401, 2.410 

10. Rounding off the number 12.49956 to three decimal places will result in : 

(1) 12.499 	(2) 12.500 	(3) 12.495 	(4) 12.498 

11. 25  x 42  x 27 x 32  is equal to : 

(1) 	29  x 33 	(2) 	27  x 34 	(3) 	29  x 35 	(4) 	28  x 35  

12. If x =10, then 7.005 x 103  is represented by : 

(1) 70x + 5 	(2) 7x2  + 5 	(3) 7x3  + 5 	(4) 7x4  + 5 

13. If x and y are both odd integers, which of the following must be also an odd integer ? 

(1) x + y 	(2) xy 
	 (3) x2 ± y2 	 (4) x — y 

14. The greatest of 3 consecutive integers whose sum is 24 is : 

(1) 6 
	

(2) 7 	 (3) 8 
	

(4) 9 

15. Which of the following is true ? 

(1) a — (b — c) = (a — b) — c 	 (2) a/(b/c)= (a/b)/c 

16. If V = 
12R

then R = ? 
r + R 

Vr + V 	 Vr 
(1) 	12 	(2) 	12 —V (3) Vr —12 	(4) 

V 
r — 12 

17. 21st term of the A.P. 2, 8, 14, 	 is - 

(1) 110 	 (2) 112 	 (3) 120 	 (4) 122 
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A 

D 

(1) 100°  

E 

(2) 90°  (3) 80° 	 (4) 70°  

B 

18. The notation for the sum 

1.1+2.3+3.5+ 	+10.19 is : 

10 
(1) 	k (k — 1) 	(2) 

k = 1 

10 
k (2k — 1 

k = 1 

10 

(3) 	
2k (k —1) 	(4) 

k = 1  

10 
E k (k + 1) 

k = 1 

19. .,./J percent of 3 ,/j is : 

(1) 0.9 	 (2) 0.09 
	

(3) 9.0 	 (4) 0.03 

20. The simplified result of the following steps carried out in order is : 

(A) add 5y to 2x 
	

(B) multiply the sum by 3 

(1) x + 10y 
	

(2) 5x + 8y 
	

(3) 6x + 15y 	(4) 2x + 8y 

21. One number is selected from the numbers 1 to 12. What is the probability that it is odd or is 

a multiple of 3 ? 

(3) 
2 5 

(4) 	6-  

22. If ABIIDE, ZBAC =30°, LCDE =50' in the figure given below then ZACD is equal to : 

23. In how many ways a child can select 4 chocolates from 8 chocolates ? 

(1) 60 	 (2) 70 
	

(3) 80 	 (4) 50 
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24. A boy is standing at a location A. He moves 5 Ft towards the East and then moves 2 Ft 
towards the North, then 3 Ft towards the East and finally 2 Ft towards the South, from there. 
The distance between the boy and the location A is : 

(1) 	12 Ft 	(2) 	7 Ft 
	

(3) 	8 Ft 	 (4) 	10 Ft 

25. How many years will sona have to wait for to earn 600/- of simple interest after investing 
2500 at 6% per annum ? 

(1) 2 years 	(2) 4 years 	(3) 3 years 	(4) 5 years 

26. The coefficient of x in the expansion of (x + 3)3  is : 

(1) 1 	 (2) 9 
	

(3) 18 	 (4) 27 

27. Which of the points P(2, 0), Q( — 3, 0), R(0, 4) and S(0, 6) do not lie on the x-axis ? 

(1) R only 	(2) Q and S only 	(3) R and S only 	(4) Q, R and S 

28. 810" is equal to : 

(1) 	2 4 	2 -- 

	

4 	 2 

° 
(3) 	2 -2-- 

 
3 

30 
(4) 2 

29. Which of the following statements is Incorrect ? 

(1) A right angle triangle has two acute angles 

(2) All the angles of a scalene triangle are different 

(3) All the angles of an equilateral triangle are equal 

(4) In every isosceles triangle all the angles are acute 

30. The number of reflection symmetries of an equilateral triangle is : 

(1) 0 
	

(2) 1 	 (3) 3 
	

(4) 2 

31. Which of the following is not true for a right angle triangle ? 

(1) The angle opposite to the hypotenuse is the largest. 

(2) Sum of the acute angles in 90°. 

(3) Square of the length of hypotenuse is equal to the sum of the squares of the lengths of 
other two sides. 

(4) The acute angles are always equal. 
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32. In a quadrilateral with three angles 30°, 60°, 45°, the fourth angle is : 

(1) 45° 	 (2) 125° 
	

(3) 225° 	(4) 180° 

33. A man travels 125 km in 5 hours. How much time will he take to travel 200 kms ? 

(1) 	40 hrs. 	(2) 	4 hrs. 	(3) 	8 hrs. 	(4) 	12 hrs. 

34. The number of faces of a tetrahedron is : 

(1) 3 
	

(2) 5 
	

(3) 4 	 (4) 6 

35. If P(A) = —
13 	4 

P(B) = 	P(AuB) = 	then P(AnB) is equal to : 
52 	52 	

16 
52 

1 	 9 
	

2 	 7 
(1) 	 (2) 52  52 
	

(3)  52 	 (4)  12 

36. The distance of the point (3, 4) from x-axis is : 

(1) 3 Units 	(2) 4 Units 	(3) 7 Units 
	

(4) 1 Unit 

37. If each observation of a data is multiplied by 3, then mean of the data : 

multiplies by 3 

does not change 

(2) decreases by 3 

(4) increases by 3 

38. The volume of a cone with radius 21 cm and height 10 cm is : 

(1) 13.86 m3 	(2) 32.34 m3 	(3) 4.62 m3 	(4) 46.2 m3  

39. How many ways 5 dresses can be distributed to 3 children ? 

(1) 5 	 (2) 8 	 (3) 15 	 (4) 60 

40. Dividend is calculated on : 

(1) face value 	(2) market value 	(3) Brokerage 	(4) debenture 

41. If the area of the square is same as the area of a circle, then their perimeters are in the ratio : 

(1) 	1 : 1 	 (2) 	2 : Tr 	(3) 	Tr : 2 	(4) 	2 : \Fir 

42. Which of the following is not a measure of central tendency ? 

(1) mean 	(2) median 	(3) mode 	(4) standard deviation 
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43. Two sides of a triangle are of lengths 7 cm and 3.5 cm. The length of the third side of the 

triangle cannot be : 

(1) 3.6 cm 	(2) 4.1 cm 	(3) 3.4 cm 	(4) 3.8 cm 

44. Abscissa of any points on y-axis is : 

(1) 0 	 (2) 1 	 (3) 2 	 (4) any number 

45. The two diagonals are not necessarily equal in a : 

(1) rectangle 	(2) square 	(3) rhombus (4) isosceles trapezium 

46. The solution of the equation 2x + 3 = 6x —13 is 

(1) 4 	 (2) 6 	 (3) 8 	 (4) 2 

47. The mid point of the line segment joining the points ( — 3, 4) and (1, 2) is : 

(1) 	( —1, 3) 	(2) 	(1, 3) 	(3) 	(1, — 3) 	(4) 	( —1, — 3) 

2 
48. The line passing through (4, 1) and having slope 73- 	: 

(1) x — 3y = 5 	(2) 2x — 3y = 5 	(3) 2x 3y = 5 	(4) 	2x + 3y =1 

49. If nPr  =npr/  then a is equal to : 

(1) n — r + 1 	(2) n+r+1 
	

(3) n — r 	 (4) n — r —1 

50. The probability of drawing a black ball from a bag containing 5 black and 3 Red balls is : 

(1) Y3 	 (2) N 	(3) 5/8 
	 (4) 1/8 
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,h+(-7)x(-3) 
1. : 

23  x 4 

(1) 	tft11-4 4t9;611 (2) 311f7144 4seif 

(3) 	1;frff 	4(se-fi (4) Tuft 

2. 5, 8, 12 3-& 20 	LCM f9-1 1 	779 .14a : 
(1) 	9 	 (2) 	8 (3) 	5  (4) 3 

3. 54* Rsil -971wr 	 t : 
(1) 	L 	 (2) 	LIV (3) 	LVI (4) IVL 

4. n2 -8,8 	if4.1.1fr--a 	nt-,  
(1) 	TOT (2) 51-fr- 
(3) 	rc 	- 1:74T 

2  

(4) TR Tuft 

5. t1- 1 
4 

9 	 9 12 6 
(1) 	16 	 (2) 	—12 (3) 	16 

(4) 
8 

2 	6 
6. + 	Gmeii t : 

2x3+6x7 	2x7+6x3 2x6+3x7 2 + 6 
(1) 	3x7 	(2) 	3 x 7 (3) 	3x7 (4) 3 x 7  

7. -51*--*xt 	gq x+a---xt 	a = 
(1) 	0 	 (2) 	1 (3) 	— 1 (4) 2 

8. 2 —2 x 3-3 x 4 —1 cmcR t : 
3 	4 	2 

(1) 	6 	 (2) 	10 (3) 	60 (4) 40 
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9. , -ftsqi31)' 2.014, 2.410, 2.104 *2.401 TT 31T4tsh H 	: 

(1) 2.014, 2.401, 2.410, 2.104 

(2) 2.014, 2.104, 2.410, 2.401 

(3) 2.014, 2.410, 2.401, 2.104 

(4) 2.014, 2.104, 2.401, 2.410 

10. ..?-11 12.49956 cfi'l cu -1 q14-1rici T-2TA cicb Tr fti 	7-41 5TITT 	ci r t : 

(1) 	12.499 	(2) 	12.500 	(3) 	12.495 (4) 12.498 

11. 25 x 42 x 27 x 32  GRIGR 	: 

(1) 	29  x 33 	(2) 	27  x 34 	(3) 	29  x 35  (4) 28  x 35  

12. Tff-  x=10 t .thr 7.005 x 103 	F-Rc\FLId orrtcil t : 

(1) 	70x + 5 	(2) 	7x2  + 5 	(3) 	7x3  + 5 (4) 7x4  + 5 

13. rq x 	y q-1-11 ra tol TOT 	*d -f9-1 i 	4-9Trr Faqi-r Tuft 61w ? 

(1) 	x+y 	 (2) 	xy 	 (3) 	x2 ± y2 (4) x—y 

14. ciii 9114114 	Atcaqi341, 	 24 t 	Tr44 	t : 

(1) 	6 	 (2) 	7 	 (3) 	8 (4) 9 

15. -1 4-Irci 5c1 11 4 -09Trr T? 

(1) a— (b—c)= (a —b)—c 	 (2) a/(b/c)= (a/b)/c 

am 
(3) am. bm= (ab)2m • 	 (4) n =am  a   

12R 

	

16. 74fq V =
r+R 	

R =? 

	

Vr + V 	 Vr 	 V  
(1) 	12 	(2) 	12—V 	(3) Vr —12 	(4) 

r —12 
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17. tigi-c-R tril" 2, 8, 14, 	 WI 21 	tfq 	: 

(1) 110 	 (2) 112 	 (3) 120 	 (4) 122 

18. Th-rith-ir 1.1+2.3+3.5+ 	+10.19 	R-1 1  #117T Tf-7 t : 

10 	 10 
(1) 	/ k (k —1) 	(2) 	k (2k —1) 	(3) 

k = 1 	 k = 1  

10 
2k (k — 1) 	(4)  

k =1 

10 
k(k+1) 

k=1 

19. 3 	3f7M t : 

(1) 0.9 	 (2) 0.09 
	

(3) 9.0 	 (4) 0.03 

20. F-14-1r roci -qT-off atl ,h4+.44 	(1,u 	 : 

(A) 2x -4 5y QS). 
	

(B) 	41414-)c1 *1 3 -4 4jult 	 

(1) x +10y 
	

(2) 5x +8y 
	

(3) 6x + 15y 	(4) 2x +8y 

21. 1 X412 deb oh 'k.it:mi4 14 A 	-) 	 t 	gcbdr 	 tzfT 3 	t ? 

1 	 1 	 2 	 5 
(1) 	 (2) 2 	 (3) 	 (4) 6 

22. qrq 	 fq , 40 r-c171 14 	ZBAC = 30°, ZCDE ---- 50°  t LACD : 

(3) 80° 	 (4) 70°  

23. m-le1 	ch 	 8 -I cb 	Al -A 4 . 1 ,41c, d 	Bohai ? 

(1) 60 	 (2) 70 	 (3) 80 
	

(4) 50 
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24. Tc1- 1 f4-774 7.--21T9' A -c1-7 	qt 174 -qt 5 Th-z 	ch`l 3-Tit 	t, fit 2 -T-7 art( cr;) 31)7uMa1 

T=irq 3 Tp.: 	3:1-173 	31-Tt45-{ 	q-0 T4 2 Te 	ch1 31-1-T 	t I d.-{•1-e-k 	T-21T-ff A 

(1) 12  	(2) 7 Tz 	 (3) 8 TZ 	 (4) 10 Te. 

25. Z 2500 6% -cllftq> zr,T ITT fT-471 WT-4 -9-T 7#97 ch Z 600 TR@ :f1"7 	 f-*-74 TrIF 	WT9T 

.141T ? 

(1) 2 741-F 	(2) 4 WO 	(3) 3 74•M 	(4) 5 7T1F 

26. (21- + 3)3 	15P4T-T 74 xljuitT t : 

(1) 1 	 (2) 9 
	

(3) 18 	 (4) 27 

27. fq-- A P(2, 0), Q( --3, 0), R(0, 4) 3-T1T S(0, 6) 4 74 Vri74 x-3M tiT #2.1-ff 	 t? 

(1) •-d"' R 	(2)7 Q 3T'YT S 	(3) 	R AT S 	(4) Q, R 3 s 

28. 810" cwoR t : 

(1) 	2 
4
1" 

° (2) 9 _1  
2 

° 
(3) 2 —

2 

3 

0 
(4) 2 

4 

29. r--firriroct 4 '7=1 	 317:rN ? 

(1) t-14-ich of f-TIF t 	wITIT 	 't 

(2) f-4774 qrg 	 'W)17 

(3) , -14-1.frs 	 qti.R 	 

(4) -{1-i[ si 	FA9-p -4 74ft W)-07 	•IfT)T 

30. f*--,117,17-4TE fTlp 4f 	9. t-14-1F4-Irct   t? 

(1) 0 	 (2) 1 	 (3) 3  (4) 2 
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31. w-ionluf 	r(-r T9TIT 	TP.-1 -ff t? 

( )   t Trn:1-4 t-rT Tr-q-4 	cl ►  t I 

(2) - 	 -i 	T 41+ ► 4ici 90° di* I 

(3) mu1 ch 	-1,61T1 	cHf 	 i.1  	i1,► 4,(4 t 	 

(4) -11 tl-ur t4-4-rr .R► .R 

32. 	30°, 60°, 45° cu 	-)Trff 	-NTIA"1 	r 1?-1T'AITT t : 

(1) 45° 	 (2) 125° 	(3) 225° 
	

(4) 180° 

33. 	T=h . (1-1 5 N. 14 125 rch.111 mIc► c1►  t I 200 rch.lfi..qff4 ii ate f-*79T Ttrig c-1;1411? 

(1) 	40 'Eft 	(2) 	4 Ni 
	

(3) 	8  	(4) 	12 

34. 	lqu-roi, 	a-) 4.serr t : 

(1) 3 	 (2) 5 
	

(3) 4 	 (4) 6 

16 35. ik P(A)= —
13 

P(B) = —
4

, P(AuB)= 	P(AnB) t : 
52 	52 	52  

1 	 9 
(1) 

52
- 	 (2) 52 

	

2 	 7 

	

(3)  52 	 (4)  12 

36. f 	(3, 4) ch x-3-TV 	tl t : 

(1) 3 T*--11 	(2) 4 T-T1 
	

(3) 7 sM/ 	(4) 1 ••-*--r1 

37. ft-4-  34* t 	3 '4 	fair .1N, 	31-Tt-r*t-r -rrr%24 : 

(1) 	3 74 quit t 	 t I 	 (2) 	3 *44 	vialtI 

(3) 	-0 ciqc-Rif t 
	

(4) 	3 	 \midi t I 
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38. 214.1=f1. f 	f 3tiT 10 A1.-1#=.41 	-qt-fT 3-TrzEdfft : 

(1) 	13.86 t3. 	(2) 	32.34 4-113. 

39. 5u17TTk 3 	 oh 	 fq—dfTU cf) 

(1) 5 	 (2) 8 

40. oilit .11 	cb1 1d f*-41.  Alcif t : 

(1) 	 TR 	(2) 	cii•TIRIT TITT 

41. zrfq f-*711-  cP1 tr 	ft7ft 171 t1 1t 

(1) 	1 : 1 	 (2) 	2 : Tr 

42. f91:ff 	A914T 	srqf 	Tritt 	 t? 

(1) 'Tr 	(2) HirWW1 

(3) 	4.62 lt3. (4) 

(4) 

46.2 T13. 

60 

t ? 

(3) 	15 

(4) f3-4--7 717 (3) 	qclic-i) 

3T-Itrm t : t t 

(3) 	Tr : 2 (4) 2 : 

(3) 	siqc-tch (4) 141-111fatIc1 -I 

43. .f"7:11.  fq9j7 ch 2 IFTA 	7 Tit atIT 3.5 Al#. tl 	1 	frn1 	T -f9f 4 .4 -16 tf 

TrWth %: 

(1) 3.6 *II 	(2) 4.1 74t. 

44. y-aiWzr{ f*-11). 	chi 	*: 

(1) 0 	 (2) 1 

45. q)-ilf-dWtif 31-1-4FT 	A ,=;Riqk 161 	61i1 : 

(1) 	3Trzfu 4 	(2) 	CV 	14 

46. 2x +3=6x —13 ch I art t : 

(1) 4 	 (2) 6 

(3) 3.4 Alft. (4) 3.8 Alt. 

(3) 2 (4) 4(sql 

(3) W1-4q11 (4) T171 ti 440.01 

(3) 8 (4) 2 
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47. fq- 3 (-3, 4) 3-11•T(1, 2) 	"FilT-01" 	""f Irv( fq-1 	: 

(1) 	(-1, 3) 	(2) 	(1, 3) 	(3) 	(1, —3) 
	

(4) 	(-1, —3) 

48. (4, 1) "T4 JjgR 	a 	—2  qf 	t : 
3 

(1) x — 3y =5 	(2) 2x — 3y = 5 	(3) 2x + 3y =5 	(4) — 2x + 3y =1 

49. q nPr 	npr _ i  a 	t : 

(1) n—r+1 	(2) n+r+1 
	

(3) n —r 	(4) n — r —1 

50. 5 .Wr-e.  AT 3 riki 1q1 c \ill 	.4 i4 1 011 	lkfrichicl4 ch1 	: 

(2) y5 	(3) 5 	(4) Y8  
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